NOTES:

—_

1

|

| THIS DRAWING IS COPYRIGHT ENTUITIVE UK LTD.

| 2. DO NOT SCALE FROM THIS DRAWING; USE

| ANNOTATED DIMENSIONS ONLY.

| 3. THE CONTRACTOR IS TO VERIFY ALL DIMENSIONS

| ON SITE BEFORE STARTING WORK OR FABRICATION.
% ERRORS AND OMISSIONS TO BE REPORTED.

4. THIS DRAWING IS TO BE READ IN CONJUNCTION
WITH ALL OTHER RELEVANT DRAWINGS AND
SPECIFICATIONS BY ALL DESIGN DISCIPLINES. THE
CONTRACTOR SHALL ENSURE COPIES OF ALL SUCH
DOCUMENTS ARE OBTAINED.

5. ALL DIMENSIONS ARE IN MILLIMETERS AND LEVELS
IN METRES UNLESS NOTED OTHERWISE.

|
|
|
|
NEOPRENE WASHER TYPE PL GRATINGS 66X11 TYPE PL GRATINGS 66X11 — |
UNDER TAPERED WASHER MESH, 50x3 BEARING BAR MESH, 50x3 BEARING BAR ||
TYPE PL GRATINGS 66X11 BY LANG AND FULTON. BY LANG AND FULTON. | |
MESH, 50X3 BEARING BAR MAX SPAN ALLOWED: MAX SPAN ALLOWED: N
BY LANG AND FULTON. I 1.25M. ]
MAX SPAN ALLOWED: . 60X60X5 GALVANISED
1.25M.
: : 400 4 " STEEL SHS SECONDARY
NEOPRENE WASHER —————— I f BEAM
— NEOPRENE WASHER ——————
grrrerrrrorrooouononunnyy IIIIIIIIIIIIIIIIIIIIIIIIIIIIII7—TAPEREDWASHER UNDER TAPERED WASHER \<§T\ UNDER TAPERED WASHER T\r\\\\L!Dl /,-7 | | —— NEOPRENE WASHER
——— — = === —— ] = — = [ ]~ UNDER TAPERED WASHER

i | T TAPERED WASHER—< | © ©
e _ L. ] = S N | P
/ e // =ty 4 H T\‘D"\A TAPERED WASHER
60X60X5 GALVANISED STEELSHS —— | \ 60X60X5 GALVANISED STEEL SHS \
60X60X5 GALVANISED STEEL SHS

PRIMARY BEAM FIXED TO 10MM I 1 T~ 50X60X5 GALVANISED PRIMARY BEAM FIXED TO 10mm - , T~ 60X175X10 THK

THK GALVANISED STEEL PLATE STEEL SHS SECONDARY THK GALVANISED STEEL PLATE PRIMARY BEAM FIXED TO 10mm ‘ GALVANISEED STEEL END
THROUGH 2NO. M10 THREADED BEAM THROUGH 2NO. M10 THREADED THK GALVANISED STEEL PLATE PLATE PREWELDED TO
RODS PREWELDED TO THE PLATE. RODS PREWELDED TO THE PLATE. THROUGH 2NO. M10 THREADED SECONDARY BEAM AND
STEEL PLATE TO BEAR ONTO STEEL PLATE TO BEAR ONTO RODS PREWELDED TO THE PLATE. BOLTED TO PRIMARY SHS
INSULATION, MIN. BEARING AREA INSULATION, MIN. BEARING AREA STEEL PLATE TO BEAR ONTO USING 2NO. M12 (1NO.
275X275MM, ALLOWABLE 275X275MM, ALLOWABLE INSULATION, MIN. BEARING AREA PER SIDE)
INSULATION INSULATION ‘ 275X275MM, ALLOWABLE (\D
COMPRESSION=150KPA @10% COMPRESSION=150KPA @10% INSULATION
COMPRESSION COMPRESSION COMPRESSION=150KPA @10% ﬂ

n n 5 o g i COMPRESSION a = = ) ﬂ

o o o o
’ yit gz
/ / | MAX. 80
2NO. GALVANISED -

50x30x3 RHS STEEL
SPREADERS

EXISTING STEEL TRUSS TO BE
STRENGTHENED WITH 8 THK X 110
WIDE STEEL PLATE (TOP AND BOTTOM

EXISTING STEEL TRUSS TO BE
STRENGTHENED WITH 8 THK X 110 WIDE

EXISTING STEEL TRUSS TO BE
STRENGTHENED WITH 8 THK X 110 WIDE

USE 2NO. M6 ROUND HEADED BOLTS
STEEL PLATE (TOP AND BOTTOM). USE 1O FIX DECK TO TOP PLATE & EX STEEL PLATE (TOP AND BOTTOM). USE Z
2NO. M6 ROUND HEADED BOLTS TO FIX TRUSS AND 2NO M6 COUNTERSUNK 2NO. M6 ROUND HEADED BOLTS TO FIX
DECK TO TOP PLATE & EX. TRUSS AND 2NO BOLTS TO FIX TO THE BOTTOM PLATE. DECK TO TOP PLATE & EX. TRUSS AND 2NO
M6 COUNTERSUNK BOLTS TO FIX TO THE REFER TO ARCH DETAILS M6 COUNTERSUNK BOLTS TO FIX TO THE
BOTTOM PLATE. REFER TO ARCH DETAILS SPACING: \ BOTTOM PLATE. REFER TO ARCH DETAILS o~ —_—
SPACING: ' SPACING:
- 80C/C AT SUPPORTS FOR 1M o o, a a o o o o
- @80C/C AT SUPPORTS FOR 1M 10 MIN L@ENGT/H 28 I I 2 - @80C/C AT SUPPORTS FOR 1M Z vars 7ize zary I—
LENGTH o 110 LENGTH 110
- @110C/C ELSEWHERE) U
- @110C/C ELSEWHERE) TRUSS TO BE PROPPED UNTIL DECK IS - @110C/C ELSEWHERE)
TRUSS TO BE PROPPED UNTIL DECK IS ey FIXED TO TRUSS/PLATE N TRUSS TO BE PROPPED UNTIL DECK IS e
FIXED TO TRUSS/PLATE. S ' <310 FIXED TO TRUSS/PLATE. (o) :
1:5 @ Al 1:5 @ Al 1:5 @ Al m
| I\ |_
5MM THICK GALVANISED V)
w STEEL CAPPING PLATE Z
60X60X5 GALVANISED :
. . STEEL SHS BALUSTRADE ( )
I I POST TO BE WELDED TO
| | SHS BEAM USING FPBW
| | ALL AROUND. m
I I
I I 5MM THICK GALVANISED
| | STEEL CAPPING PLATE Ll
TYPE PL GRATINGS 66X11 NEOPRENE WASHER | |
MESH, 50X3 BEARING BAR UNDER TAPERED WASHER | |
BY LANG AND FULTON. I I
MAX SPAN ALLOWED: | |
1.25M.
TAPERED WASHER, IF : :
REQUIRED | |
I I
I I
I I
60X60X5 GALVANISED | | INSULATION AND FINISHES REFER TO 103/5410—\
STEELSHSSECONDARY_\IIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ] “yllIIIIIIIIIIIIIIII/_60Xl75x10THKGALVAN'SEED_\IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII| | TO ARCHITECTS DETAILS IlwllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
BEAM L STEELEND PLATE PREWELDED [ —— 0= =
- TO SECONDARY BEAM AND -
o BOLTED TO PRIMARY SHS o] o C16 TIMBER FASCIA FIXED TO TIMBER 3NO. GALVANISED x
A — — — — — — — USING 2NO. M12 (INO.PER =  =————— — — e e e r PLATE BELOW WITH STANDARD 'A'’ 50x30x3 RHS STEEL Cl1 |29 0CT21|ASCLOUDED FA
i SIDE) f | I | ANGLE BRACKETS (BY SIMPSON OR PREADERS -
| | SIMILAR) AND M6 COACH SCREWS TO CO |27 OCT 21 |ISSUED FOR CONSTRUCTION
= “ < THE SIDE AT 600mm cc, AS SHOWN MARK| DATE REVISIONS BY

60X60X5 GALVANISED STEEL SHS —
PRIMARY BEAM FIXED TO 10mm
THK GALVANISED STEEL PLATE
THROUGH 2NO. M10 THREADED
RODS PREWELDED TO THE PLATE.
STEEL PLATE TO BEAR ONTO
INSULATION, MIN. BEARING AREA
275X275MM, ALLOWABLE

C16 TIMBER TIMBER PLATE FIXED
TO STEEL PLATE BELOW WITH M6
COUNTERSUNK SELF DRILLING

NTUITIVE

143 Crownstone Road, London
SW2 INB United Kingdom

3NO. GALVANISED
@f 50x30x3 RHS STEEL

SPREADERS

INSULATON — 8mm THK X 200 WIDE BESPOKE STEEL +44 (0)20 7733 6837
COMPRESSION=150KPA @10% s ANGLE SUPPORTING THE TIMBER
COMPRESSION 1 FASCIA ABOVE.

I
I
I
I
|
| SCREWS AT 600mm cc.
I
|
I
I
I

Spencer Baylin

EXISTING STEEL TRUSS TO BE STRENGTHENED WITH 8

THK X 110 (BOTTOM), 210 (TOP) WIDE STEEL PLATE.
USE 2NO. M6 ROUND HEADED BOLTS FOR FIXING THE
TOP PLATE. USE 2NO. M6 COUNTERSUNK BOLTS FOR
FIXING THE BOTTOM PLATE. REFER TO ARCHITECTS
DRAWINGS.

PROJECT

EXISTING STEEL TRUSS TO BE
STRENGTHENED WITH 8 THK X 110 WIDE

STEEL PLATE (TOP AND BOTTOM). USE 2NO.
M6 ROUND HEADED BOLTS TO FIX DECK TO

13A Pond Street, NW3

TOP PLATE & EX. TRUSS AND 2NO M6
COUNTERSUNK BOLTS TO FIX TO THE
BOTTOM PLATE. REFER TO ARCH DETAILS
SPACING:

TITLE

SPACING:
- @100C/CTO 1m FROM TRUSS ENDS
- @140C/C ELSEWHERE

ESTIMATED DEFLECTIONS:

First Floor Section Details

- @80C/C AT SUPPORTS FOR 1M STATUS

LENGTH - DL(SOIL+DRAINAGE) = 7MM CONSTRUCTION
@110C/C ELSEWHERE) 10 MIN e 10 MIN - DL(EXISTING DECK+GRATING S.W.) = IMM s i i i DESIGN SCALE DRAWING No.
- Joje LOMIN o 1OMIN - LL(TERRACED ROOF) = 4.5MM
TRUSS TO BE PROPPED UNTIL DECK IS FIXED | (TERRACED ROOF) = 4.5 110 SCA AS SHOWN
m LL (BALUSTRADE) = 4MM m DRAWN DATE
TO TRUSS/PLATE. 103 | 0
Gag) Gy SCA 18 NOV 19
15 @ Al 15 B AL CHECKED PROJECT S4 1 O
TGTM |No. 3985




	Sheets and Views
	S410 - C


